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QID : 201 - Select the related word from the given alternatives.
Cow : Milk :: Bees : ?

g 7Tq faemedt & & Hefda 2z @l gl

g : gy :: AyHAfRai : ?

Options:
1) Silk
_W

2) Honey
RIS

3) Flower

Toel
4) Water
STel

Correct Answer: Honey
AGS

Candidate Answer: Honey
AGS

QID : 202 - Select the related letters from the given alternatives.
ACF:GIL::0QT:?

g g faemedt & § Teifda s1eri & gfwl

ACF:GIL::0QT:?

Options:

1) VXY

2) Uwz

3) RSV

4) VXZ
Correct Answer: UWZ
Candidate Answer: UWZ

QID : 203 - Select the related number from the given alternatives.
64:8:0.01:?

g 71q faeedt & § Hefda T &t gl
64:8:0.01:?

Options:

1) 0.1

2)1

3)10

4) 0.08

Correct Answer: 0.1

Candidate Answer: 0.1

QID : 204 - Select the odd word from the given alternatives.
g 7Tq faehedt A & faww 2reg &t gl
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Options:
1) Stream
YRT

2) Rivulet
BER

3) River
B

4) Valley
i

Correct Answer: Valley

Candidate Answer: Valley

QID : 205 - Select the odd letters from the given alternatives.

fog 7Tq faeredt & € fawm s1eRi &t gy

Options:
1) ADG

2) HKN
3) ORU

4) BDF

Correct Answer: BDF

Candidate Answer: BDF

QID : 206 - Select the odd number from the given alternatives.
g g faemedt § € faww dwem & gfg

Options:

1) 49

2) 25

3)8

4) 36

Correct Answer: 8

Candidate Answer: 8

QID : 207 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
upset, aurora, spurn, strut, status, ?

Tk reRH o 7 8, e ven e w81 g g faremed @ a8 it e gy St argerA st Rk

upset, aurora, spurn, strut, status, ?
Options:
1) treasure

2) perfect

3) right

4) unique

Correct Answer: treasure

Candidate Answer: [ NOT ANSWERED ]|

QID : 208 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
LN, QS V,?

ek 3rehH e e &, o veh ue o &1 g g frehedt & @ g @) e gg St ergehA mt g R

LN, QsSV,?
Options:
HW

2)Y
3)z

4) X
Correct Answer: X
Candidate Answer: X



QID : 209 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
111, 107.5, 104, ?, 97, 93.5
Qe 31ehA o T 8, e ve e qw 81 g g fomedt 7 © a8 Tl faehed 9y St sigeRd ol g |

111, 107.5,104, ?, 97, 93.5
Options:
1) 100

2)99.5
3)100.5

4) 99
Correct Answer: 100.5
Candidate Answer: [ NOT ANSWERED ]

QID : 210 - Advik's birthday is on Monday 19t June. On what day of the week will be Nishith's Birthday in the same year if Nishith was born on 17" November?

3ifgen o1 FFAfe THarR 19 S & g1 afe Msfrer o1 77 17 Ader &t & at St af feftar o Seafew g & e e ghm?

Options:
1) Saturday
FER

2) Wednesday
JUAR

3) Friday

Q\I

4) Sunday
REEIN

Correct Answer: Friday
Q\I
Candidate Answer: Friday

Q\I

QID : 211 - The weights of 4 boxes are 90, 30, 40 and 60 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these boxes
and in a combination a box can be used only once?

IR g1 T aei 90, 30, 40 3R 60 fheitum &1 Fmfafea & & godt & frdht off Tatsr @ gt avr, fhetume & &9 a1 181 &) TehdT & SR Ter aie & Ueh JoRiT Tah &) IR U |
STIT ST bl 87

Options:
1) 200
2) 220
3) 180
4) 130

Correct Answer: 200
Candidate Answer: [ NOT ANSWERED ]

QID : 212 - From the given words, select the word which cannot be formed using the letters of the given word.
JAUNTILY

fafafea et & @ ag e T St iRy Mg 2reg & 1Rt o1 TRINT ek 8T ST ST ek

JAUNTILY

Options:

1) NEATLY

2) AUNTY

3) JAUNT

4) UNITY

Correct Answer: NEATLY

Candidate Answer: NEATLY

QID : 213 - If UNCOVER is coded as FMXLEVI, then how will TIP be coded as?

Tfe UNCOVER & foreht ahts & FMXLEVI forar STTam &, @t TIP ot 3t st & et forar smeam?



Options:
1) LTV

2) NQV
3) KHQ

4) GRK
Correct Answer: GRK
Candidate Answer: GRK

QID : 214 - In a certain code language, '+ represents 'x', - represents '+, 'x' represents '+' and '=' represents -'. What is the answer to the following question?
50+5-700x28="7

ot ol 9T &, '+ T Aded 'X' &, - T A '+ 8, 'X' &l Aderd '+ § 8fR '+ &7 Aqae - &1 Fmfofeaa usr v IR g2

50+5-700x28="7

Options:

1) 94

2) 100

3)90

4) 275
Correct Answer: 275
Candidate Answer: 275

QID:215-1f 3% 2 =50,2 % 4 = 60 then what is the value of 5% 4 =?

3% 2=50,2%4 =605 %4 =? T Id hifed|

Options:

1)16

2)9

3) 90

4) 20

Correct Answer: 90

Candidate Answer: [ NOT ANSWERED |

QID : 216 -

Select the missing number from
the given responses

few a1T fashedt & & ocd
a#&ar giav|
2ol 7 |12

6 |13 | 7
138|117 | 84

Options:
19

2)13
3)17

4)15



Correct Answer: 9
Candidate Answer: 9

QID : 217 - A paper boy cycles 10 km East, then turns South and cycles 3 km, then turns West and cycles 6 km, then turns to his right and cycles 3 km. Where is he
now with reference to his starting position?

Teh UWR a1 ASent gd il 3R 10 foh.+ft. To amsfonet =rerman &, foRr &faior &t ok 78 o & ofk 3 6., a arsfeher araren &, o uffw ot oik 71 ST & iR 6 fon. . e arsfena
TeTar g, fOR 1o 3T¢ SiR € S17e & iR 3 fon.=fY. ek arsfohet Tretrar &1 a8 oruht TRfYes fefa @ o9 gl 82
Options:

1) 4 km West

4 T, ofgm

2) 14 km East

14 f+ o

3) 4 km East

4R g

4) 14 km West

14 f5. . ufgm

Correct Answer: 4 km East

AR

Candidate Answer: 4 km East
4 for =t

QID : 218 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All flowers are leaves.
Statement 2 : Some flowers are plants.

Conclusion | : Some leaves are plants.
Conclusion Il : Some plants are flowers.

uy § &l Y 33 M & O ot &t fenef | ofk 1| et T &1 SueRt | € TR S e I € TR 98 9T I 9 § {9 welid g1 gl smuent Aol e & fr Ry g
et & @ eta-a1/d-8 g 9 @ Fu gR1 T8t et ST g g/9%d €, afg &S gt

HU 1: gt et ol &
FUF 2: TS G A §l

Foreent |: o T A B
fr=ny |1: To @ G 81
Options:

1) Only conclusion | follows

Fhad fFehy | 98t 8

2) Only conclusion Il follows
Il =gt g

3) Both | and Il follow

T Fserd | 3R 11 98t 8

4) Neither | nor Il follows

1t freenef | @t & 1 81 s |1

Correct Answer: Both | and Il follow

a1 e | ok 11 Tt &

Candidate Answer: Both | and Il follow

a1 e | ok 11 Tt &



QID: 219 -

Which of the following cube in the answer
figure cannot be made based on the unfolded

cube in the question figure?

fAFafaf@d 3cax mfd & & =i @1 g
fw arT e Hpfd A & g v @

FATIT Gl AT Fhdr?

O

D

Options:
1)

T |

WY
)

Correct Answer:
Candidate Answer:

QID : 220 -
Options:

Correct Answer: B, C
Candidate Answer: B, C




QID : 221 -
Which answer figure will complete
the pattern in the question figure?
fAefaf@a & & Sla-dr 3cav mpfa gea
IHfT F 9fawT HT g FE?

Options:
1)
4)

Correct Answer:
Candidate Answer:

2)

3)

QID : 222 -



Options:
1)

2)

3)

4

<_| P

Correct Answer:

Candidate Answer:




QID : 223 -

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

U AT A QWT HAAR F1TST I
AlZH 3TH DG I dUT Gl & dI dg
e 3caX 3mpfa ST femrs &am?

i

Options:
1)

4)
Correct Answer:

oo
O (|
(] (|
(|
Candidate Answer:
o0
O Ol
(] (|
o




QID : 224 -

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

IfE e gdur @ MN YT 9 @M ST dr &) 718
3col IRl # & HieT-TY 3Mepfd T ITepid
&1 \er gfafers grefr?

M N

Options:
1)

2)

3

4

Correct Answer:

Candidate Answer:




QID : 225 -

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its
column, for example 'K' can be represented by 40, 24
etc and 'Z' can be represented by 98, 67 etc.
Similarly, you have to identify the set for the
word 'OXEN'.

UF EE FAd Uh AEA-EHg oW At g #, S
fawedi & @ Brdr v A fan mar ) @wedl 4 RBe s
dear-adg el & o @it ganr v wo §, S R Re
aTw g1 amept A §1 Hegp-l & waEd A o & wwn
0 & 4 3T megg-ll Fr 5 F 9 F) g gt | vE W
FT 9BA IHHT G WX qE H FaEH GEAT ga@nT g o
TFaT §| TEEROT & T K HF 40, 24 W g@nr gufEw A
HHAT § FUT ‘2 Hr 98, 67 i gawr gaAfar S owear #l
HI ¥ ¥ 9T WA A BT e 'OXEN' & v #Hg &0

HIEE -1 =N

Matrix | Iatrix il |
|
|

= P |- 6o

o= |alals

= < |o|mn

NN e

bW e|e
o D= |w
o @~
= =-RE - Al
-1 e
2= |E |- |w

Options:
1) 65,97,42,99

2)21,33,58,67
3) 44,44,55,58

4) 14,34,55,66
Correct Answer: 65,97,42,99
Candidate Answer: 65,97,42,99

QID:226-Ifthe______ firm has zero costs or only has fixed cost, the quantity supplied in equilibrium is given by the point where the average revenue is zero.

afe T &Y AT T B STET hael (RR AT 1 df Ser A Gfl dht 71T i 39 fig gIRT &2t S g, foie W sftea e S il &1

Options:
1) Perfect Competition
ufaegyf

2) Monopoly
UHHR
3) Oligopoly
HTARR
4) Monopolistic Competition
ufaegef
Correct Answer: Perfect Competition

Candidate Answer: [ NOT ANSWERED ]

QID : 227 - The average variable cost curve is ____ shaped.

3ftga uRadt arTd T 3R & Bid 8

Options:
1HU

2)V
3)X

4H W
Correct Answer: U



Candidate Answer: [ NOT ANSWERED ]

QID : 228 - "Central Bureau of Intelligence and Investigation" is listedinthe _______list given in the Seventh Schedule in the Constitution of India.

"HEIT SANUT 3R STYEAT &R TR S AU < A orgget A & mit g § gefeg 8
Options:

1) Union

Fer

2) State
I

3) Global
fasg
4) Concurrent

Correct Answer: Union

Candidate Answer: Union

QID : 229 - There are total parliamentary seats (Rajya Sabha constituency) in Odisha.

T d ot ___ Fadr e (reagn FRafaa &) &
Options:

1) 11

2)19

3)10

41
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

QID : 230 - In 1918, Mahatma Gandhi went to to organise a satyagraha movement amongst cotton mill workers.

1918 # AgTeHT TTiel} et ST ARG o HSIGR oh o9 FAWE & Ie [ _____ ST Ug=|

Options:
1) Madras
Hatd

2) Bombay
e

3) Surat

W4
4) Ahmedabad
IEHEETE

Correct Answer: Ahmedabad
IEHSTETG

Candidate Answer: Ahmedabad
IEHSIETG

QID : 231 - Murshid Quli Khan, Alivardi Khan and Sirajuddaullah were all nawabsof ______ ?

Options:
1) Lucknow
TGTH

2) Varanasi
3) Hyderabad
EAEI

4) Bengal
Coic)

Correct Answer: Bengal
a‘l 6

Candidate Answer: Bengal
ST

QID : 232 - affect the rate of humus formation of soil.

T o A (A0 &l & i gTfad hed €1



Options:

1) Flora & Fauna
EELIRHICRCIT
2) Time

qHg

3) Temperature
GICCIES

4) Parent rock
Si-ch Ig

Correct Answer: Flora & Fauna
Candidate Answer: [ NOT ANSWERED ]

QID : 233 - The latitudes of main land of India extends between

R Y qT A T Srerier & <9 the gem 81

Options:

1) 8°4'Nand 37°6'N

8°4' IR 3R 37°6' IR

2) 8°4'W and 37°6'W

8°4'ufgm ik 37°6' ufgw
3)8°4'Eand 37°6'E

8°4'yd 8k 37° 6'gd

4) 8°4'S and 37°6'S

8°4' gfgror afk 37°6' faior

Correct Answer: 8°4'N and 37°6' N
8°4' 3T 3R 37°6' IR

Candidate Answer: [ NOT ANSWERED ]

QID:234-___ s astraw coloured, viscous fluid constituting nearly 55 per cent of the blood.

ek getoh Uit I T TMTeT et Uaref &, St 3k o SIaaT o1y 55 UfaRrd gidt 8|

Options:

1) Plasma

e

2) Formed Elements
s :

3) Blood Groups

I<h g

4) Coagulation of Blood

Ich-Tehed

Correct Answer: Plasma

e

Candidate Answer: Plasma
e
QID : 235 - Sexual reproduction in Algae that takes place through fusion of two similar size gametes is called?

& GH |1 a7l GHeh! & GiTer & Starel & g aTel @ifiies S i & T dhed 87

Options:
1) Zoospores

2) Anisogamous
3) Isogamous

4) Oogamous
GHh

Correct Answer: Isogamous
Candidate Answer: [ NOT ANSWERED ]

QID : 236 - Animals in which the cells are arranged in three embryonic layers are called
S mfovat & Sifrenrd di= oot =i & cgafea gidt &, 32 HEd 8l

Options:

1) Diploblastic

2) Ectoderm
STg] T

3) Tripoblastic
[Ecarcal

4) Endoderm
3 =



Correct Answer: Tripoblastic
Candidate Answer: [ NOT ANSWERED ]

QID : 237 - An image formed by a concave mirroron a screeniscalled _______ ?

3ol SUUT GRT IS TR 4 aTet Ufafsia vt oT gl STTeT 82

Options:

1) Virtual image
STt wfafe

2) Real image
EISIECRIRIEES

3) Inverted image
3T y

4) Erect image
e ufafds

Correct Answer: Real image
Candidate Answer: [ NOT ANSWERED ]|

QID : 238 - The distance-time graph for the motion of an object moving with a constant speed is a

A arer § i A aTelt a¥g T QU AHT AR Qeh BT &1

Options:
1) Dot

2) Circle

qd
3) Straight Line
TR @M
4) Curve

dsh

Correct Answer: Straight Line
TR @M

Candidate Answer: [ NOT ANSWERED ]

QID : 239 - is a collection of data values of same types having a common name.

1T A & U UehR) bl TUE & fSTeht 99 AT glar g1
Options:
1) Object
2) String

3) Array
=

4) Numbers
g

Correct Answer: Array
Candidate Answer: [ NOT ANSWERED ]

QID:240-A thread is actually stronger than a steel wire.

___ @I dR 3T & dR g 31fee yaet glar gl

Options:
1) wool
A

2) cotton
GG

3) jute
s

4) nylon
BIENIE)

Correct Answer: nylon
BIENIE)

Candidate Answer: [ NOT ANSWERED ]

QID : 241 - The process of depositing a layer of any desired metal on another material by means of electricity is called

forera g forelt el wR Rt aifdsa arg & tRa Fafta @t et fehan @t o gt 82



Options:
1) Electroplating
e

2) Galvanisation

e A (Fea-rgaise)
3) Rusting

ST T

4) Crystallisation
[Eascicau]

Correct Answer: Electroplating

Candidate Answer: Electroplating

QID : 242 - refers to the number of births during a given period in the population that are added to the initial density.

Y Haad FAE # S 39 ST 9 ¢ 7t & mf 9rafey & IR e a9 € gt Bl
Options:
1) Natality
SFHR
2) Mortality
AR
3) Immigration
AT
4) Emigration
RIS CINE]
Correct Answer: Natality
SR

Candidate Answer: Natality
SR

QID:243-______ is awelfare scheme started by the Prime Minister in order to provide LPG connections to domestic households that fall under the below the
poverty line category.

T ZRT R 6 TRt Teh oot Fier & foedh sidfa 39 uRart &t ere] Terdtsft shaer iy St it miteht Y & = oma &1
Options:

1) Gram Uday Se Bharat Uday Abhiyan

T 38 & Rd 37 A=

2) Pradhan Mantri Ujjwala Yojana

AT IaeT AT

3) Pradhan Mantri Surakshit Matritva Yojana

g RIS A1ge aeT

4) Vidyanjali Yojana

[ERIEIERISEN

Correct Answer: Pradhan Mantri Ujjwala Yojana
A Isgaer

Candidate Answer: Pradhan Mantri Ujjwala Yojana
A Isgaer

QID : 244 - Who invented the waterproof raincoat?

ST Iehie o HTfARR fohem fomam?
Options:
1) Robert Hooke
Jat gh
2) Cai Lun
g
3) Charles Macintosh
q

4) William Harvey
faferam grd

Correct Answer: Charles Macintosh

T Afheler

Candidate Answer: Charles Macintosh
A

QID : 245 - In which sport did India win Silver medal at Rio Olympics 2016?
Rt aficiftres 2016 & wTR A fohg @t F ToTd Uee Sfiar?



Options:
1) Badminton

2) Boxing
32 Hoc.key
HED)

4) Wrestling
Easil

Correct Answer: Badminton

Candidate Answer: Wrestling

gl

QID : 246 - Who was the architect of Taj Mahal?

AT 78 S ARG i A?
Options:

1) Ustad Ahmad Lahouri
IEITE 3TEHE BRI

2) Norman Foster

A T

3) Henry Irwin

4) Ustad Ghani Utbuddin

IS O S

Correct Answer: Ustad Ahmad Lahouri
I IHEHE ATERY

Candidate Answer: Ustad Ghani Utbuddin
I gt

QID : 247 - The Nobel Prize in Literature 2016 was awarded to?

2016 & Grfec & Ateiel REAR & - il gwrfaa fowan mar o

Options:
1) Frank Sinatra
e

2) Elvis Presley
Qiead Ot

3) Bob Dylan
e e

4) Jimi Hendrix

orft Efge

Correct Answer: Bob Dylan
Eic

Candidate Answer: [ NOT ANSWERED ]

QID : 248 - Which of the statements given below are not correct?

1. The author of 'India 2020: A Vision for the New Millennium' is Shashi Tharoor.
2. The author of 'The Great Indian Novel' is A.PJ. Abdul Kalam.
3. The author of 'My Country My Life'is I.K Guijral.

R EEAAdaT I ad g gl

1. '§feam 2020: 31 5 BR & I Feifem’ & dae A a8
2. '3 I 3f3a AT’ & Jaeh TS, s1ege s
3. 'O g} T TS o oRaeh TS, ORI &

Options:
1)1 and 2
18R 2

2)2and 3
23R 3

3)1and3
18R 3

4)1,2and 3
1,233

Correct Answer: 1,2 and 3
1,233

Candidate Answer: [ NOT ANSWERED ]

QID : 249 - In April 2016, amid rising tension over North Korea, which country launched its first domestically built aircraft carrier?

37 2016 H, ITR HIRAT IR Tgd a9 o o, fohd 321 7 70T ugen e, Afa famm arges wafoa frar?



Options:
1) South Korea
gferor ifear

2) Japan
STTaT

3) China
=

4) USA
FUSIY

Correct Answer: China
Candidate Answer: [ NOT ANSWERED ]

QID : 250 - Which National Park in Nepal is a continuation of India's Valmiki National Park?

JAuret & i A1 AE I VR F arerifh IR Iem it ez 82

Options:
1) Chitwan National Park
e v sam=
2) Bandipur National Park
TETR JTE I
3) Dudhwa National Park
gerar g e
4) Jim Corbett National Park
S wide It e
Correct Answer: Chitwan National Park

e e sam=

Candidate Answer: Chitwan National Park
REIEE

QID : 251 - What is the remainder when 2468 is divided by 37?

ST9 2468 @t 37 gRT RS e Srar §, a9 srafre oan g 82

Options:
1) 26

2)36
3)18

4)14
Correct Answer: 26
Candidate Answer: 26

QID : 252 - A can do 75% of a job in 9 days and B can do half of the job in 8 days. If they work on it together, then in how many days can they do half of the job?

A e & @t 75% e 9 AT A qr1 o Fend & SR B 8 AT A 39 o o St fow o ek 8| I & ARt 39 1H ol hd & a1 3 39 M 1 e o fohaa et 7 o wehat
&

Options:

1) 40/7

2) 24/7

3)7/2

4)9/2

Correct Answer: 24/7

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - Area of 4 walls of a cuboid 400 sq cm, its length is 15 cm and height is 8 cm. What is its breadth (in cm)?

e AT T 4 R ol &thet 400 aif T.7f). &1 3Teht ofams 15 It ofik S 8 E.ft. &1 s Terd (F . F) ;g2
Options:

1)12

2) 20

3)24

4)10

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED |

QID : 254 - At 20% discount the selling price of an article is Rs 2400, what is the selling price (in Rs) if the discount is 32.5%?

20% BT TR Yeh I oAl foishl T 2400 < 8, Ik e 32.5% i 8t ot forsht e (3 ) axam ghm?

Options:
1) 2125
2) 2225
3) 2025
4) 2325

Correct Answer: 2025



Candidate Answer: [ NOT ANSWERED ]

QID : 255 - What is the fourth proportional to 24, 120 and 22?

24,120 3fR 22 3 =S ST T 82
Options:

1) 110

2) 120

3)100

4) 90
Correct Answer: 110
Candidate Answer: 110

QID : 256 - What is the average of all numbers between 8 and 74 which are divisible by 7?

8 3R 74 & g goft Tereit &Y offgd @ g Sit 7 9 fursy g2
Options:

1) 40

2) 41

3) 42

4) 43
Correct Answer: 42
Candidate Answer: [ NOT ANSWERED ]|

QID : 257 - A trader had 1200 kgs of rice. He sold a part of it at 5% profit and the rest at 11% profit, so that he made a total profit of 7%. How much (in kg) wheat did he
sell at 5% profit?

ek TR} 3 A1 1200 b7, =raet €| SE- S9! Ueh 3T 5% re 3R A 11% o a1 IR &, fored foh I8 7% ol et HATRI AT | I fohet=1 amaret (36,71 ) 5% o WR srm
qT?

Options:
1) 900
2) 600
3) 400
4) 800

Correct Answer: 800
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - 20% of a = b, then b% of 20 isthesameas_______of a.

a1 20% = b, df 20 &1 b% THEE g1, a & I
Options:

1) 8%

2) 40%

3) 4%

4) 80%
Correct Answer: 4%
Candidate Answer: [ NOT ANSWERED |

QID : 259 - After excluding stoppages, the speed of a bus is 60 kmph and after including stoppages, it is 45 kmph. For how many minutes does the bus stop per hour?

IERIY Y BIghe, a9 i 7 60 o 71, ufay &2 3R srariy wfga, g iy 45 for Y. ol w2 &1 g5 s ufar ver foham e Sandt 87
Options:

1) 10

2)9

3)12

4)15

Correct Answer: 15

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - The simple and compound interest that can be earned in two years at the same rate is Rs 1,000 and Rs 1,040 respectively. What is the rate (percent per
annum) of interest?

HIURUT 3R Tehqfeg =TT, fOF 3 a1t § o &) = & AfSia fohar 511 TerdT €, 98 shAat: 1,000 % 3R 1,040 & &1 &amet &= (% Ui av) foraet &2



Options:

19

2) 10

3)8

4) 11

Correct Answer: 8

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - If 5/2 - (6/5)(x - 15/2) = -x/5, then what is the value of x?

e 5/2 - (6/5)(x - 15/2) = -x/5, &t x T AT T &2

Options:
1)-23/2
2)13/2
3)-13/2
4) 23/2

Correct Answer: 23/2
Candidate Answer: -13/2

QID: 262 - If a- b = 2 and ab = 24, then what is the value of a3 - b3?

afda-b=23fRab=24% a3-b3 s amang?
Options:

1) 280

2) 124

3) 140

4)152
Correct Answer: 152
Candidate Answer: 152

QID : 263 - Sum of twice a fraction and its reciprocal is 17/6. What is the fraction?

Teh O 3 QAT SR 36 Heshd T AT 17/6 81 a8 A R 82

Options:

1) 4/3

2) 5/4

3) 3/4

4)4/5

Correct Answer: 3/4
Candidate Answer: 3/4

QID : 264 - The 3rd and 7th term of an arithmetic progression are -9 and 11 respectively. What is the 15th term?

Tk gaTAR Hoft o1 =T 3R Traat ug shusr: -9 8k 11 &1 1547 ug = a1 g?

Options:

1) 28

2) 87

3) 51

4)17

Correct Answer: 51

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - What is the reflection of the point (4, 7) in the line y =-1?

YTy = -1 fig (4, 7) 1 R a1 &2

Options:
1)(-6,7)

2) (-4,-9)

3)(4,-9)

4) (6,-7)

Correct Answer: (4, -9)

Candidate Answer: [ NOT ANSWERED |

QID : 266 - What are the co-ordinates of the centroid of a triangle, whose vertices are A(2, 5), B(-4, 0) and C(5, 4)?

foreht frentor & haen o fdarics i €, fSadh R A (2, 5), B (-4, 0) 8RR C (5, 4) &2



Options:

1)(-1,3)

2)(1,3)

3)(1,-3)

4)(1,-3)

Correct Answer: (1, 3)

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - Slope of the line AB is -2/3. Co-ordinates of points A and B are (x, -3) and (5, 2) respectively. What is the value of x?

@1 AB o &alH -2/3 81 faig A ok B & fAdaries shaar: (x, -3) 8 (5, 2) €1 x &1 719 T &2
Options:

1)4

2)-14

3)125

4)-4

Correct Answer: 12.5

Candidate Answer: [ NOT ANSWERED ]|

QID : 268 - D and E are points on side AB and AC of AABC. DE is parallel to BC. If AD:DB = 2:3, what is the ratio of area of AADE and area of quadrilateral BDEC?

AABC &t 9fsTT AB 3fR AC IR D 3R E feig &1 DE, BC & TAMieR &1 af& AD: DB = 2:3 8, af AADE & 3R Iig2{ST BDEC & &thef T STUTd RIT 87
Options:

14:21

2)4:25

3)4:29

4)4:9

Correct Answer: 4 : 21

Candidate Answer: [ NOT ANSWERED ]

QID : 269 - What is the value of Cot 60° - Cos 45°?

Cot 60° - Cos 45° &7 AT &7 &7

Options:

1) (9 - 2v3)/9

2) (2v6-1)/V3

3) (1-2v3)/2

4) (v2-V3)/V6

Correct Answer: (V2 - v3)/v6
Candidate Answer: (V2 - v3)/v6

QID : 270 - A PQR is right angled at Q. If m«R = 60°, what is the length of PR (in cm), if RQ = 4v3 cm?

A PQR, Q R T &1 afg m«R = 60° &, dt PR &t wiarg (.4, #) T &, afe RQ = 4v3 §.4t. &7

Options:
1)8

2)4
3)8/v3
4) 8v3

Correct Answer: 8v3
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - If Tan © = 9/40, then Sec 8 =?

af¢ Tan © = 9/40, dt Sec 6 = ?

Options:
1) 40/41

2) 9/41
3) 41/40

4) 41/9
Correct Answer: 41/40
Candidate Answer: 41/40



QID : 272 -
There are six taxi companies (A, B, C, D, E, F) in a certain city. The
bar graph shows the number of taxis run by each of these six
companies. Study the diagram and answer the following
questions.

ua e e H we TRl dula (A, 8, C, D, E, F) 81 AR A1 &

Tg dufal H ¥ ude grT FIarE S areh ofaadl & e gt
T S 3T BT T He SR FrAfaied Ui o1 e g1

140
120

E 120
& 100 a5
E 80 75
-
e
$ &
2
.; 40 LY

]
H

Y B C (1] E F

Company | F9=T

Which taxi company has more taxis than A but less than D?

forg Torft dhuft F A @ 1fdres sl D @ e 2foRiai &2
Options:

1)B

2)C

3)F

4)E
Correct Answer: C
Candidate Answer: [ NOT ANSWERED ]

QID : 273 -
There are six taxi companies (A, B, C, D, E, F) in a certain city. The
bar graph shows the number of taxis run by each of these six
companies. Study the diagram and answer the following
guestions.

e g e o o et aufai (A, B, €, D, €, F) B 1 SR U &4

BE B H I UdS R 9IS o arelt et & e gutar
B 5 R BT HEES $e 1R FEreied v o1 3e g1

140

120
a5
75
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Numberol taxk / ¥ €1 T
S g

If 30 taxis quit company B and joined company D then D will have how many more taxis than C?

afg 30 Ryt shuht B Y i€ § ok ot D & anfie g SITd |t C & gt & D & foraht a1fdres 2feryat gifi?
Options:

1) 40

2) 30

3) 110

4)70



Correct Answer: 70
Candidate Answer: [ NOT ANSWERED |

QID : 274 -
There are six taxi companies (A, B, C, D, E, F) in a certain city. The
bar graph shows the number of taxis run by each of these six
companies. Study the diagram and answer the following
guestions.

T e wee o oo el S (A, B, G, D, €, F) § 1 IR U6 §4
g Sufal § 8 UdE g 9IdrE o arell efol o S i
1 S T BT S S iR FEfeied vl o gak g1

120
a5
75
35

25

F . I -
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A B C D E F
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]
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Numberol taxk J ¥l 1 T
E

Even if A and C decide to merge, still D will have how many more taxis (in %) than the merged A and C entity?

FA B1 A 3R C faera st ot fAofa o, o oft fefi A iR C & o+ 5 & g & D & o1t a1fren (% #) eferaat givfi?
Options:

1)15

2) 20

3)10

4) 25
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

QID : 275 -
There are six taxi companies (A, B, C, D, E, F) in a certain city. The
bar graph shows the number of taxis run by each of these six
companies. Study the diagram and answer the following
questions.

o A& e  we ¢l $UEi (A, 8,C, D, E, F) 1 IR AT &7

BE HUAG A Y UdE gR 9IS o arel St @ S gutar
B 5 3 DT HEES Be IR FAed Ui o e g1

140
120
E 120
& 100 a5
E 80 75
™
£l
! &0
E 40 35
: 25
.l | =
i J | B
A B c (1] E F
Company [ TEAT

If each taxi on an average runs 100 kms every day and if fuel cost is Rs 3 per km, then all these taxis spend how much (in Rs.) on fuel every day?

Ife s ot ufafem sftaas 100 for . Tt & ofik af $emr i v 3 = ufa foh . Y, at gr R woft 2f Rt & forg Sem wR fovaen = (3 8) g



Options:
1) 128000
2) 108000
3) 118000
4) 98000

Correct Answer: 108000
Candidate Answer: [ NOT ANSWERED ]

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

| took the shortest (1)/ way through the (2)/ little park close the palace. (3)/No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

As it came to a stop (1)/ the conductor called (2)/ overin a loud voice. (3)/No Error (4)
Options:

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]|

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Moving to the citywaseye-__________ for the straitlaced country girl.
Options:

1) clearing

2) freeing

3) saving

4) opening

Correct Answer: opening

Candidate Answer: opening

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

With a blood test, a physician was able to the woman's pregnancy.
Options:

1) term

2) confirm

3) firm

4) confer

Correct Answer: confirm

Candidate Answer: confirm

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Exemption

Options:

1) Immunity

2) Accountability

3) Liability

4) Responsibility

Correct Answer: Immunity

Candidate Answer: [ NOT ANSWERED |

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Perverse

Options:

1) Agreeable

2) Nefarious

3) Compliant

4) Willing

Correct Answer: Nefarious



Candidate Answer: [ NOT ANSWERED ]

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

To maneuver
Options:

1) To manipulate
2) To proceed

3) To cease

4) To machinate

Correct Answer: To cease
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

To avert
Options:

1) To aid

2) To deter

3) To forestall
4) To preclude

Correct Answer: To aid
Candidate Answer: [ NOT ANSWERED |

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To go to somebody's head

Options:

1) To have a huge ego

2) To complain to the highest authority

3) To make someone dizzy or slightly drunk
4) To arrive at the central point of the topic

Correct Answer: To make someone dizzy or slightly drunk
Candidate Answer: [ NOT ANSWERED |

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To make amends

Options:

1) To make new friends

2) To feel guilty for something you have not done
3) To compensate

4) To make flimsy excuses

Correct Answer: To compensate
Candidate Answer: To make new friends

QID : 286 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

Why should we (bothered)?
Options:

1) bother

2) bothering

3) to bother

4) no improvement

Correct Answer: bother
Candidate Answer: bother

QID : 287 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no improvement
is needed, select "no improvement".

| absolutely must (seen) him, however painful it may be for me.
Options:

1) saw

2) seeing

3) see

4) no improvement

Correct Answer: see
Candidate Answer: see

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

To move back and forth or sideways



Options:

1) Sojourn

2) Tarriance

3) Traverse

4) Breather

Correct Answer: Traverse

Candidate Answer: Traverse

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The remains of something that has been badly damaged
Options:

1) Pristine

2) Immaculate

3) Wreckage

4) Sterile

Correct Answer: Wreckage

Candidate Answer: Wreckage

QID : 290 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Mutiniers

2) Muteneers

3) Muteniers

4) Mutineers

Correct Answer: Mutineers

Candidate Answer: Mutineers

QID : 291 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Obeisance

2) Obeisanse

3) Obesance

4) Obesanse

Correct Answer: Obeisance

Candidate Answer: Obeisance

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Our only enemies were

X-heat, thirst, and flies, but far

Y-from man or beast than that awful trinity
Z-rather would | have faced any danger

Options:

Correct Answer: XZY
Candidate Answer: XYZ

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

Thus, | stand on a

X-hill and watch a labourer
Y-upon the distant railway
Z-striking with his sledge
Options:

Correct Answer: XZY
Candidate Answer: XZY

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

The painter painted the entire bungalow.

Options:

1) The entire bungalow is painted by the painter.

2) Painting of the entire bungalow was done by the painter.
3) The entire bungalow was painted by the painter.

4) Painting of the entire bungalow is done by the painter.

Correct Answer: The entire bungalow was painted by the painter.



Candidate Answer: The entire bungalow was painted by the painter.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

The teacher said, "Nobody can solve the problem.”
Options:

1) The teacher said that nobody can solve the problem.

2) The teacher said that nobody should solve the problem.
3) The teacher said that somebody can solve the problem.
4) The teacher said that nobody could solve the problem.

Correct Answer: The teacher said that nobody could solve the problem.
Candidate Answer: The teacher said that nobody could solve the problem.

QID : 296 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Manja, or the glass-coated string used for flying kites, not only poses threat to humans, animals and birds but also to trees. A study by the country's oldest
botanical garden has revealed that it poses a great threat to trees. But how can a snapped string struck in a tree kill the tree? Apparently, it does so by allying with
the creepers in the garden.

A research paper by three scientists of the Acharya Jagdish Chandra Bose Indian Botanic Garden, located in West Bengal's Howrah district, illustrates in detail how
the manja, in collusion with climbers, does the damage. "The abandoned, torn kite strings act as an excellent primary supporting platform for the tender climbers,
giving easy passage to reach the top of the trees. Lateral branches from the top of the climber and other accessory branches from the ground reaches the top
taking support of the first climber, completely covers the treetop, thus inhibiting the penetration of sunlight,’ says the research paper.

Abandoned, torn kite strings stuck in trees benefits whom?
Options:

1) Humans

2) Creepers

3) Birds

4) Trees

Correct Answer: Creepers

Candidate Answer: [ NOT ANSWERED ]

QID : 297 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Manja, or the glass-coated string used for flying kites, not only poses threat to humans, animals and birds but also to trees. A study by the country's oldest
botanical garden has revealed that it poses a great threat to trees. But how can a snapped string struck in a tree kill the tree? Apparently, it does so by allying with
the creepers in the garden.

A research paper by three scientists of the Acharya Jagdish Chandra Bose Indian Botanic Garden, located in West Bengal's Howrah district, illustrates in detail how
the manja, in collusion with climbers, does the damage. "The abandoned, torn kite strings act as an excellent primary supporting platform for the tender climbers,
giving easy passage to reach the top of the trees. Lateral branches from the top of the climber and other accessory branches from the ground reaches the top
taking support of the first climber, completely covers the treetop, thus inhibiting the penetration of sunlight,’ says the research paper.

How many scientists contributed to a study by country's oldest botanical gardens on how manja can kill a tree?
Options:

1) Two

2) Three

3) Five

4) Four

Correct Answer: Three

Candidate Answer: Three

QID : 298 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Manja, or the glass-coated string used for flying kites, not only poses threat to humans, animals and birds but also to trees. A study by the country's oldest
botanical garden has revealed that it poses a great threat to trees. But how can a snapped string struck in a tree kill the tree? Apparently, it does so by allying with
the creepers in the garden.

A research paper by three scientists of the Acharya Jagdish Chandra Bose Indian Botanic Garden, located in West Bengal's Howrah district, illustrates in detail how
the manja, in collusion with climbers, does the damage. "The abandoned, torn kite strings act as an excellent primary supporting platform for the tender climbers,
giving easy passage to reach the top of the trees. Lateral branches from the top of the climber and other accessory branches from the ground reaches the top
taking support of the first climber, completely covers the treetop, thus inhibiting the penetration of sunlight,’ says the research paper.

How can a tree be killed by a creeper?

Options:

1) By blocking its access to sunlight

2) By wrapping its tentacles around its branches
3) By sucking away the nutrients

4) By secreting toxic chemicals

Correct Answer: By blocking its access to sunlight

Candidate Answer: [ NOT ANSWERED ]



QID : 299 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Manja, or the glass-coated string used for flying kites, not only poses threat to humans, animals and birds but also to trees. A study by the country's oldest
botanical garden has revealed that it poses a great threat to trees. But how can a snapped string struck in a tree kill the tree? Apparently, it does so by allying with
the creepers in the garden.

A research paper by three scientists of the Acharya Jagdish Chandra Bose Indian Botanic Garden, located in West Bengal's Howrah district, illustrates in detail how
the manja, in collusion with climbers, does the damage. "The abandoned, torn kite strings act as an excellent primary supporting platform for the tender climbers,
giving easy passage to reach the top of the trees. Lateral branches from the top of the climber and other accessory branches from the ground reaches the top
taking support of the first climber, completely covers the treetop, thus inhibiting the penetration of sunlight,’ says the research paper.

What would be the acronym for India's oldest botanical garden?
Options:

1) AJCBIBG

2) AJCBBGI

3) AJBCIBG

4) AJBCBGI

Correct Answer: AJCBIBG

Candidate Answer: AJCBIBG

QID : 300 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Manja, or the glass-coated string used for flying kites, not only poses threat to humans, animals and birds but also to trees. A study by the country's oldest
botanical garden has revealed that it poses a great threat to trees. But how can a snapped string struck in a tree kill the tree? Apparently, it does so by allying with
the creepers in the garden.

A research paper by three scientists of the Acharya Jagdish Chandra Bose Indian Botanic Garden, located in West Bengal's Howrah district, illustrates in detail how
the manja, in collusion with climbers, does the damage. "The abandoned, torn kite strings act as an excellent primary supporting platform for the tender climbers,
giving easy passage to reach the top of the trees. Lateral branches from the top of the climber and other accessory branches from the ground reaches the top
taking support of the first climber, completely covers the treetop, thus inhibiting the penetration of sunlight,’ says the research paper.

What gives easy passage to ‘climbers’ to top of the trees?
Options:

1) Creepers

2) Torn kites

3) Lateral branches

4) Manja

Correct Answer: Manja

Candidate Answer: Torn kites



